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ol | 4R % i H LR R NS B EE ) W | X | & FF TR (m)
1|7 8 H25H (&) 153 20 20 54 - - 247 1,100

2 | 8 8H8H (K) 270 20 21 51 - - 362 1,100
3109 SH6H (K 300 23 20 45 - - 388 1,100

4 | 10 SHS5H () 345 24 20 47 - - 436 3,495

5 | 11 SH4H (k) 374 24 20 50 - - 468 3,495

6 | 12 SH4H (&) 537 92 49 50 6 7 741 6,150

7 | 13 SHS8H (k) 757 107 152 55 | 15 | 11 1,097 9,100

8 | 14| 8H8H (K) 886 132 151 53 | 15 | 8 1,245 9,930

9 | 15 SHSH (&) 866 132 176 47 | 16 8 1,245 ”

10 | 16 SH6H (K 711 177 142 48 | 20 | 12 1,110 ”

11 | 17 SH5H (&) 718 167 142 44 | 16 | 11 1,098 ”

12 | 18 SHS8H (k) 687 207 78 46 | 17 | 18 1,053 ”

13 | 19 SH7H (K) 815 174 50 47 | 17 | 16 1,119 v (%)
14 | 20 8HS5H (K) 766 222 82 51 | 16 | 16 1,153 7 (3%)
15 | 21 SH4H (X) 773 257 102 52 | 16 | 15 1,215 r (%)
16 | 22 SH3H (K) 744 230 115 51 | 16 | 15 1,171 v (%)
17 | 23 SH2H (k) 850 241 95 51 | 16 | 16 1,269 7 (3%)
18 | 24 | 8HTH (K) 676 194 92 53 | 16 | 15 1,046 ”

19 | 25 SH8H (K) 600 208 93 54 | 16 | 12 983 %

20 | 26 SH5H (X) 717 187 69 52 | 16 | 12 1,053 %

21 | 27 | 10H6H (k) 679 216 70 57 | 9 12 1,043 10,930
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